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QUESTION 1

Which of the following best describes what you might expect after disabling InnoDB at run time?

A. It will disable InnoDBs associated memory buffers and data structures, however it will not save any memory.
B. It will still enable InnoDBs associated memory buffers and data structures, however it will save memory.

C. It will disable InnoDBs associated memory buffers and data structures, which will save memory.

Correct Answer: C

QUESTION 2

Which of the following best describes what mysgldumpslow does and how to use it?
A. It shows a summary of the slow log contents.

B. It dumps the contents of the slow log into a readable format.

C. shell> mysqgldumpslow log_name

D. shell> mysqgldumpslow

Correct Answer: B

QUESTION 3

The stored function year_to_date is created by the \Wroot\\'@\\'localhost\\' account as follows:
CREATE FUNCTION year_to_date ()

RETURNS DECIMAL(10,2)

SQL SECURITY DEFINER

BEGIN

END;
Within the routine body, a number of calculations are made on data in the financials table and the

calculated value is returned. The only account which can access the financials table is \\'root\'@\\'localhost\\'. If a client
connects with the account \Wjoe\W@\\'localhost\\' and calls the year_to_date function, what will happen?

A. The function will always execute as if it was \\'root\\'@\\'localhost\\' that invoked it since SQL SECURITY DEFINER
has been specified.
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B. The function will not execute, as \\joe\\'@\\'localhost\\' does not have access to the financials table

C. The function will not execute as SQL SECURITY DEFINER has been specified. It would execute if instead SQL
SECURITY INVOKER had been specified

D. If the account \\'joe\\V'@\\'localhost\\' has the EXECUTE privilege on year_to_date, the function will complete
successfully

Correct Answer: D

QUESTION 4

What should you do in order to enhance the security of a standard MySQL installation on Unix- type operating
systems?

A. Disable the mysql_access program
B. Run the mysql_secure_installation script
C. Nothing; by default the security level of a MySQL installation is very high

Correct Answer: B

QUESTION 5

Which of the following statements are true of compressed tables?
A. They can be uncompressed.

B. They can not be uncompressed.

C. They can be uncompressed but some data corruption may occur.

Correct Answer: A
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